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XC6213 -

ON/OFF ( )

JTR0308-008

|
XC6213 CMOS IC

12V 50V  0.05V

(CL) ESR ( )
CE

SOT-25 SSOT-24 USP-4 USPN-4

[ |
- 150mA
(VOUT=3.0V, VIN=4.0V )
400mV @IOUT=100mA
®DSC / Camcorders 2.0V 6.0V
- 1.2V 5.0V (0.05V )
+2%
35UA(TYP)
0.1pA
60dB @10kHz
-40 85

ESR
USP-4
SSOT-24
SOT-25
USPN-4
: EU RoHS

@ SSOT-24

XC6213B302

VIN=VCE=4.0VDC+0.5p-pAC
10UT=50mA , CL=1.0pF(ceramic)

Y

VIN VOoUuT

90
80
CE VSS 70 |

[CIN cL 60 T~

1uF 1uF 50
H 40

30

RR (dB)

10

0.01 0.1 1 10 100
f (kHz)
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XC6213

||
Vout NC
VIN Vout
5 4
Vss Zl E CE vin 4 |\ ] (|1 Vour
VourIl E Vin cea|CJ [CJj2vss
USPN-4
CE Vss (BOTTOM VIEW)
VIN Vss CE SSOT-24
SOT-25 (TOP VIEW) *USP-4
(TOP VIEW)
[ | Vss(2  Pin)
SOT-25 | SSOT-24 | USP4 USPN-4
1 4 4 4 VIN
2 2 2 2 Vss
3 1 3 3 CE ON/OFF
4 - - - NC
5 3 1 1 Vout
||
o
XC6213 1)
B H
12~50 3.0V 3. =0
2 0.1v +2%
2.80V =2 =38, =2
A 0.05V +29%
2.85V =2, =8 =A
MR SOT-25
MR-G SOT-25
NR SSOT-24
- > NR-G | SSOT-24
GR USP-4
GR-G USP-4
7R-G USPN-4
*1) 77-G77 EU RoHS
(*2)
( R- L- )

2/33




XC6213

|
_e_lﬁ
I ¢ L VIN
CE I: ()Cr\;ﬁ)rzr — each circuit
Y
- Current
+ Limit _|
] vour
R2
x
R1
Reference . ] vss
TIT
IC
|
Ta=25
VIN Vss—0.3~7.0 v
lout 500( 1) mA
Vout Vss -0.3~VIN+0.3 Y,
CE VCE Vss—0.3~7.0 Vv
SOT-25 250
600( )(_2)
150
SSOT-24
500( Y( 2)
~ 120 mw
USP-4
1000( ) ( 2)
100
USPN-4
600( ) 2)
Topr -40 ~ + 85
Tstg -55~+125

(1) lout=Pd/(VIN-VOUT)
(2

29

TOIREX
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XC6213

|
®XC6213B Tazo5
MIN. TYP. MAX.
Vout(T) Vout(T)
Vourt(E) lout=30mA, CE=VIN Vout(T) \Y
x 0.98 x 1.02
VIN=VouT(T)+1.0V, 100
Vout(T)=1.20~1.45V, CE=VIN
VIN=VouT(T)+1.0V, 120
VouT(T)=1.50~2.95V, CE=VIN
loutMAX mA
VIN=VouT(T)+1.0V, 150
VouT(T)=3.00~4.05V, CE=VIN
VIN=VouT(T)+1.0V,
200 - -
Vout(T)=4.10~5.00V, CE=VIN
VIN=VouT(T)+1.0V,
Vout - 15 50 mV
ImA lour 100mA, CE =VIN
Vdift lout = 30mA, CE = VIN E-1 mvV
Vdif2 lout=100mA, CE=VIN E-2 mvV
Iss VIN=VouT(T)+1.0V, CE=VIN 25 35 50 HA
Istby VIN=VOUT(T)+1.0V 6.0V, CE=Vss - 0.01 0.10 HA
Vourt Vout(T)+1.0V VIN 6V
e —— - 0.01 0.20 %IV
VIN  Vout lout=30mA, CE=VIN
VIN - 2.0 - 6.0 V -
Vout lout=30mA, CE=VIN ppm /
_ - +100 -
Topr  Vourt -40 Topr 85
VIN=[VourT (T) + 1.0 V] +0.5 Vp - pAC - 60 -
PSRR dB
lout=50mA, f=10kHz, CE=VIN
Ishort VIN=VouT (T) + 1.0V, CE=VIN - 50 - mA
CE’H” VCEH - 1.3 - 6.0 \Y%
CE'L” VCEL - - - 0.25 %
CE’H” ICEH VCE = ViIN=VouT (T) + 1.0V -0.1 - 0.1 HA
CE"L” ICEL VIN=VouT (T) +1.0V, VCE =Vss -0.1 - 0.1 HA
*1 : VouT(T):
*2 : VOUT(E):
(Vout (Vout(m)+1.0V) )
*3:vdif {(VINT®®  Vour1™)
*4 :\VouT1:lout (VouTt(m)+1.0V) 98%
*5: VIN1 Vout1
6 ViN=VouT(T)+1.0V
*7 :Vout(r) 1.45V MiN : VouT(m)-30mV , MAX : VouTt(T)+30mV
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XC6213

Ta=25
E-0 E-1 E-2
1 2

(V) lout=30mA (mV) lout=100mA (mV)

Vout Vdif1 Vdif1 Vdif2 Vdif2

Vout(T)

MIN. MAX. TYP. MAX. TYP. MAX.

1.20 1.170 1.230 760 800 850 1000

1.25 1.220 1.280 760 800 850 1000
1.30 1.270 1.330 660 700 810 960
1.35 1.320 1.380 660 700 810 960
1.40 1.370 1.430 560 600 770 920
1.45 1.420 1.480 560 600 770 920
1.50 1.470 1.530 460 500 730 880
1.55 1.519 1.581 460 500 730 880
1.60 1.568 1.632 360 400 690 840
1.65 1.617 1.683 360 400 690 840
1.70 1.666 1.734 260 300 650 800
1.75 1.715 1.785 260 300 650 800
1.80 1.764 1.836 200 240 600 750
1.85 1.813 1.887 200 240 600 750
1.90 1.862 1.938 200 240 600 750
1.95 1.911 1.989 200 240 600 750
2.00 1.960 2.040 190 230 530 670
2.05 2.009 2.091 190 230 530 670
2.10 2.058 2.142 190 230 530 670
2.15 2.107 2.193 190 230 530 670
2.20 2.156 2.244 190 230 530 670
2.25 2.205 2.295 190 230 530 670
2.30 2.254 2.346 190 230 530 670
2.35 2.303 2.397 190 230 530 670
2.40 2.352 2.448 190 230 530 670
2.45 2.401 2.499 190 230 530 670
2.50 2.450 2.550 180 210 470 580
2.55 2.499 2.601 180 210 470 580
2.60 2.548 2.652 180 210 470 580
2.65 2.597 2.703 180 210 470 580
2.70 2.646 2.754 180 210 470 580
2.75 2.695 2.805 180 210 470 580
2.80 2.744 2.856 180 210 470 580
2.85 2.793 2.907 180 210 470 580
2.90 2.842 2.958 180 210 470 580
2.95 2.891 3.009 180 210 470 580
3.00 2.940 3.060 150 180 400 500
3.05 2.989 3.111 150 180 400 500
3.10 3.038 3.162 150 180 400 500
3.15 3.087 3.213 150 180 400 500
3.20 3.136 3.264 150 180 400 500
3.25 3.185 3.315 150 180 400 500
3.30 3.234 3.366 150 180 400 500
3.35 2.283 3.417 150 180 400 500
3.40 2.332 3.468 150 180 400 500
3.45 3.381 3.519 150 180 400 500

TOIREX
5/33



XC6213

|
® 2 Ta=25
E-0 E-1 E-2
1 2
V) louT=30mA (mV) lout=100mA (mV)
Vout Vdif1 Vdif1 Vdif2 Vdif2
Vout(T)
MIN. MAX. TYP. MAX. TYP. MAX.

3.50 3.430 3.570 140 170 350 450
3.55 3.479 3.621 140 170 350 450
3.60 3.528 3.672 140 170 350 450
3.65 3.577 3.723 140 170 350 450
3.70 3.626 3.774 140 170 350 450
3.75 3.675 3.825 140 170 350 450
3.80 3.724 3.876 140 170 350 450
3.85 3.773 3.927 140 170 350 450
3.90 3.822 3.978 140 170 350 450
3.95 3.871 4.029 140 170 350 450
4.00 3.920 4.080 130 160 320 420
4.05 3.969 4.131 130 160 320 420
4.10 4.018 4.182 130 160 320 420
4.15 4.067 4.233 130 160 320 420
4.20 4.116 4.284 130 160 320 420
4.25 4.165 4.335 130 160 320 420
4.30 4.214 4.386 130 160 320 420
4.35 4.263 4.437 130 160 320 420
4.40 4.312 4.488 130 160 320 420
4.45 4.361 4.539 130 160 320 420
4.50 4.410 4.590 120 150 300 400
4.55 4.459 4.641 120 150 300 400
4.60 4.508 4.692 120 150 300 400
4.65 4.557 4.743 120 150 300 400
4.70 4.606 4.794 120 150 300 400
4.75 4.655 4.845 120 150 300 400
4.80 4.704 4.896 120 150 300 400
4.85 4.753 4.947 120 150 300 400
4.90 4.802 4.998 120 150 300 400
4.95 4.851 5.049 120 150 300 400
5.00 4.900 5.100 120 150 300 400
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XC6213

CIN=1.0uF]|
(ceramic)

VIN VOUT

CL=1.0uF
(ceramic)

VIN={VOUT+1}V DC
+0.25Vp-pAC]

O,

TIT
W VIN VOUT | OPEN
o
CE
4. O
CIN=L O;F o e VSS
T
VIN VOUT ¥ ! IOUT=50mA
CL=1.0uF i
CE (ceramic )
VSS
TIT TIT

TOIREX
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XC6213

|
XC6213 Vout | v o g{l VIN
R1 R2 ON/OFF
Vout PchMO CE Control [~ each circuit
S Vout
Current
Limiter —I
CE IC _|X| Vour
R2
'y
R1 %
Voltage
Reference ~ Eﬁ VSS
777
< ESR >
XC6213 ESR IC
(Cv) (Cv) ESR
(Cv)
VIN Vss (CIN)1.0paF
1.2 ~1.75V 1.8 ~5.0V
CL 3.3pF 1.0pF
Ta=-40°C 85°C
VIN=20 6.0V,VOUT=12 5.0V
CIN=1.0uF (ceramic)
100
10 L
E
S STABLE REGION
&
w
0.1
0.01
0.01 0.1 1 10 100
Output Current : IOUT (mA)
< >
XC6213 )
50mA
<CE >
XC6213 CE IC Vout Vss
XC6213B H CE
CE VIN Vss CE
IC
< >
IC 2.0V 2.0V
|
1. IC
2.
3. (CIN) (CL) IC
4,
IC
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XC6213

(1)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

1.5

1.2

0.9

0.6

0.3

0.0

0.9

0.6

0.3

0.0

2.0

1.6

1.2

0.8

0.4

0.0

XC6213B122

VIN=VCE=2.2V, CIN=1.0l1F, CL=3.34F (ceramic)

\

Ta=85°C \ \
25°C

v
—

50 100 150 200
Output Current: IOUT (mA)

XC6213B152

VIN=VCE=2.5V, CIN=1.0p1F, CL=3.3F (ceramic)

A\N

— 25°C

Ta=85"C

-40°C

\
=

\
\
7

P

50 100 150 200 250
Output Current: IOUT (mA)

XC6213B182

VIN=VCE=2.8V, CIN=CL=1.04F (ceramic)

AN

Ta=85°C
25°C )

AR

-40°C

A7

50 100 150 200 250 300
Output Current: IOUT (mA)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

0.9

0.6

0.3

0.0

1.8

1.5

1.2

0.9

0.6

0.3

0.0

2.0

1.6

1.2

0.8

0.4

0.0

XC6213B122

VIN=VCE, Ta=25 , CIN=1.0pF, CL=3.3uF (ceramic)

(

/

%/ VIN=2.2V
|

50 100 150 200
Output Current: IOUT (mA)

XC6213B152

VIN=VCE, Ta=25 , CIN=1.0,juF CL=3.3jiF (ceramic)

X

VIN=6.0V

/

— VIN=2.5V

A

50 100 150 200 250
Output Current: IOUT (mA)

XC6213B182

VIN=VCE, Ta=25 , CIN=CL=1.0puF (ceramic)

VIN=6.m

/

& VIN=2.8V
//

50 100 150 200 250
Output Current: IOUT (mA)

TOIREX
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XC6213

(1

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

10/33

3.5

2.5

1.5

0.5

6.0

5.0

4.0

3.0

2.0

1.0

0.0

XC6213B302

VIN=VCE=4.0V, CIN=CL=1.04F (ceramic)

™~

Ta=85°C
I 25°C
-40°C

N
x|

=

7

0 100

200

300 400

Output Current: IOUT (mA)

XC6213B502

500

VIN=VCE=6.0V, CIN=CL=1.04F (ceramic)

IS

Ta=85°C
— 25°C
-40°C

NN
>

=

]

Z
%

0 100 200

300

400 500 600

Output Current: IOUT (mA)

700

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

3.5

3.0

2.5

2.0

1.5

1.0

0.5

0.0

6.0

5.0

4.0

3.0

2.0

1.0

0.0

XC6213B302

VIN=VCE. Ta=25

. CIN=CL=1.0LF (ceramic)

‘h..._‘_‘_ 7
~N \
VIN=3.3V \4/ VIN=6.0V
d// VIN=4.0V
100 200 300 400 500 600

Output Current: IOUT (mA)

XC621

3B502

VIN=VCE, Ta=25 . CIN=CL=1.0LF (ceramic)

[~

\\

P

\

IN=6.0V

/

VIN=5.3V

\\

NV

A

--'-'_'.-...-

/
g

100 200

300 400 500 600
Output Current: IOUT (mA)




XC6213

(2)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

1.4

1.3

1.2

1.1

1.0

0.9

0.8

2.0

1.9

1.8

1.7

1.6

1.5

1.4

6.0

5.5

5.0

4.5

4.0

3.5

3.0

VIN=VCE, Ta=25

XC6213B122

, CIN=1.0pF, CL=3.3puF (ceramic)

IOUT=0mA —
, 1mA
30mA,

100mA

2 3 4 5 6
Input Voltage: VIN (V)

XC6213B182

VIN=VCE, Ta=25 , CIN=CL=1.0pF (ceramic)

2 3 4 5 6
Input Voltage: VIN (V)

XC6213B502

VIN=VCE, Ta=25 , CIN=CL=1.0pF (ceramic)

IOUT=0mA

1mA
30mA
100mA

V4

/a

/.
7/

3 4 5
Input Voltage: VIN (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

3.5

3.0

2.5

2.0

1.5

VIN=VCE, Ta=25

XC6213B152

, CIN=1.0pF, CL=3.3uF (ceramic)

—]

[
1]
[T

Input Voltage: VIN (V)

XC6213B302
VIN=VCE, Ta=25 , CIN=CL=1.04F (ceramic)
IOUT=0mA
1mA
30mA
100mA
2 3 4 5

Input Voltage: VIN (V)

TOIREX
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XC6213

3)

Dropout Voltage: Vdif (V) Dropout Voltage: Vdif (V)

Dropout Voltage: Vdif (V)

12/33

1.2

1.0

0.8

0.6

0.4

0.2

0.0

1.2

1.0

0.8

0.6

0.4

0.2

0.0

1.2

1.0

0.8

0.6

0.4

02

0.0

XC6213B122

VIN=VCE, CIN=1.0juF, CL=3.3uF(ceramic)

Mirimum Qperatirjg Voltage

///

7

Ta=85°C |
25°C
-40°C

20

40 60 80

100 120 140

Output Current: IOUT (mA)

XC6213B182

VIN=VCE, CIN=CL=1.0juF(ceramic)

Ta=85°C

25°C

g

-40°C

e

L

MirImum Opel'ating Voltrge

30

60 90

120 150

Output Current: IOUT (mA)

XC6213B502

VIN=VCE, CIN=CL=1.0juF(ceramic)

Ta

=85°C

25°C
-40°C

50

100 150

200 250

Output Current: IOUT (mA)

Dropout Voltage: Vdif (V)

Dropout Voltage: Vdif (V)

1.0
0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1
0.0

0.8

0.6

0.4

0.2

0.0

XC6213B152

VIN=VCE, CIN=1.0puF, CL=3.3uF(ceramic)

Minimum Cperating

oltage

Ta=85°C __|

25°C

H

-40°C

20

40 60 80 100
Output Current: IOUT (mA)

120 140

XC6213B302
VIN=VCE, CIN=CL=1.0puF(ceramic)

Ta=85°C
25°C
-40°C

-

Yz

40 80 120 160

Output Current: IOUT (mA)

200




XC6213

(4)
XC6213B122
.5 VIN=VCcE, CL=3.3uF(ceramic)
Ta=85"
40 a c
. -
§_ 35 f
~ 30
1)
%)
T 25
<
)
]
(@]
> 15
Q.
S 10
? |
[
0
1 2 3 4 5
Input Voltage: VIN (V)
XC6213B182
VIN=VCE, CIN=CL=1.0ju4F(ceramic)
45
40
E
< 35 A
2
0 30
2]
£ 25
g / a=40°C
3 / a=25"C
2 15
a8 / Ta=85°C
3
2 10
[
0
0 1 2 3 4 5
Input Voltage: VIN (V)
XC6213B502
45 VIN=VcE, CIN=CL=1.0uF(ceramic)
40
—~ 35 Ta=85°C ]
<
El |
: 25 _-'Ezﬁ_d
£ I P—
E 20 "
jun }
3 J/
> 15
2 / Ta={40°C
j
D 10 / / T8=25C
5
0
0 1 2 3 4 5 5]

Input Voltage: VIN (V)

Supply Current: ISS(juA)

Supply Current: ISS (JuA)

45

40

35

30

25

20

15

10

45

40

35

30

25

20

15

10

XC6213B152
VIN=VCcE, CL=3.3uF(ceramic)
Ta=85°C
1 2 3 4 5

Input Voltage: VIN (V)

XC6213B302

VIN=VCE, CIN=CL=1.01F(ceramic)

1

)

Iﬂ Ta=25{C

o
oo

l
(

1 2 3 4
Input Voltage: VIN (V)

TOIREX
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XC6213

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

14/33

0 VIN=VCcE=2.2V, CIN=1.0puF, CL=3.3uF(ceramic)

XCB213B122

1.3
1.25
1.20
—--""'-..'-
= |
I0UT=0 mA
1.15 =1 mA
=30 mA
1.10 ‘
50 -25 0 25 50 75 100
Ambient Temperature: Ta ()
XC6213B182
VIN=VCcE=2.8V, CIN=CL=1.0u4F(ceramic)
1.90
1.85
1.80 — —
//
IOUT=0 mA
1.75 =1 mA
=30 mA
||
-50 -25 0 25 50 75 100
Ambient Temperature: Ta ()
XC6213B502
VIN=VCE=6.0 V, CIN=CL=1.0j4F(ceramic)
510
5.05 =
5.00 /
I0UT=0 mA
4.95 =1mA
=30 mA
4.90
4.85
-50 -25 0 25 50 75 100

Ambient Temperature: Ta ( )

Output Voltage: VOUT (V)

XC6213B152

VIN=VCE=2.5V, CIN=1.0uF, CL=3.3JuF(ceramic)

1.55
1.50 //—
] IOUT=0 mA
1.45 =1 mA
=30 mA
1.40 |
-50 -25 0 25 50 75 100
Ambient Temperature: Ta ()
XC6213B302
VIN=VCE=4.0V, CIN=CL=1.0uF(ceramic)
3.10
S
=~ 3.05
)
o
>
o
g 3.00 ]
g -
> v
=}
%— I0UT=0 mA
o 295 =1 mA
=30 mA
2.90
-50 -25 0 25 50 75 100

Ambient Temperature: Ta ()




XC6213

(6)

Supply Current: ISS (JuA)

Supply Current: ISS (J4A)

Supply Current: ISS (JuA)

70

60

50

40

30

20

70

60

50

40

30

20

70

60

50

40

30

20

XC6213B122
VIN=VCcE=2.2V, CIN=1.0juF, CL=3.3juF(ceramic)
I
50 -25 0 25 50 75 100
Ambient Temperature: Ta ()
XC6213B182
VIN=VCE=2.8V, CIN=CL=1.0juaF(ceramic)
._______...--"'" B
.---"""'H.’.’.’.
-50 -25 ] 25 50 75 100
Ambient Temperature: Ta ()
XC6213B502
VIN=VCE=6.0V, CIN=CL=1.0puF(ceramic)
.--"'".-.-.-
.--"""-.-.-.-.-.‘-.-.‘
-50 -25 0 25 50 75 100

Ambient Temperature: Ta ()

XC6213B152
VIN=VCE=2.5V, CIN=1.0puF, CL=3.3uF(ceramic)
70
< 60
2
)
%)
= 50
€
o
5
O a0
2 —
Q.
@
30
20
-50 -25 ] 25 50 75 100
Ambient Temperature: Ta ( )
XC6213B302
. VIN=VCE=4.0V, CIN=CL=1.0juF(ceramic)
g 0
@
2]
£ 50
o
5
(&]
> 40
g — |
3
(%]
30
20
-50 25 0 25 50 75 100
Ambient Temperature: Ta ()
(7) CE
XC6213B502
2 VIN=VCE=6.0V, CIN=CL=1.0juF(ceramic)
1.
=S
-
w
o
> 115
T
w
S >
% 1.10 s
s /CEH /
o)
2 1.05
a2 - WVCEL
[0]
£ /
= /
L e
(@]
1.00
-50 -25 0 25 50 75 100

Ambient Temperature: Ta ()

TOIREX
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XC6213

(8)

16/33

Input Voltage: VIN (V)

Input Voltage: VIN (V)

Input Voltage: VIN (V)

XC6213 B122

VIN=VCE , Ta=25

lout=1mA, tr=tf=5pus, CL=3.3juF(ceramic)

1.40
Input Voltage
f \\ 1.35
L { 1.30
L 1 1.25
Output Voltage
L 1 1.20
1.15
Time (40pas/div)
XC6213 B152
VIN=VCE , Ta=25
lout=1mA, tr=tf=5pus, CL=3.3uF(ceramic)
1.70
/ \\ 1.65
Input Voltage 1.60
‘ 1.55
Output Voltage
- 1.50
1.45
Time (40pas/div)
XC6213 B182
VIN=VCE , Ta=25
lout=1mA, tr=tf=5pus, CL=1.0juF(ceramic)
5 : 2.05
Input Voltage
4 2.00
3 1.95
2 1.90
1 —1 185
Output Voltage
0 1.80
» 1.75

Time (40pas/div)

Output Voltage: VOUT (V) Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Input Voltage: VIN (V)

Input Voltage: VIN (V)

Input Voltage: VIN (V)

5

4

XC6213 B122

VIN=VCE , Ta=25

lout=30mA, tr=tf=5pus, CL=3.3juF(ceramic)

Time (40pas/div)

1.40
Input Voltage
/ \ 1.35
1.30
Output Voltage 1.25
- 1.20
1.15
Time (40pus/div)
XC6213 B152
VIN=VCE , Ta=25
lout=30mA, tr=tf=5pus, CL=3.3juF(ceramic)
1.70
\\ 1.65
Input Voltage 1.60
Output Voltage 155
1.50
1.45
Time (40pas/div)
XC6213 B182
VIN=VCE , Ta=25
lout=30mA, tr=tf=5pus, CL=1.0juF(ceramic)
2.05
Input Voltage S
r P 9 2.00 —
-
)
. 1195 ©
.
190 §
1.85 g
Output Voltage =3
180 &
1.75

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)
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Input Voltage: VIN (V)

Input Voltage: VIN (V)

XC6213 B302
VIN=VCE , Ta=25

lout=1mA, tr=tf=5pus, CL=1.0juF(ceramic) 310

Input Voltage

Output Voltage

Time (40pas/div)

XC6213 B502
VIN=VCE , Ta=25
loutT=1mA, tr=tf=5ps, CL=1.0puF(ceramic)

Input Voltage

Output Voltage

Time (40pas/div)

3.08

3.06

3.04

3.02

3.00

2.98

5.25

5.20

5156

5.10

5.05

5.00

4.95

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Input Voltage: VIN (V)

XC6213 B302
VIN=VCE , Ta=25
lout=30maA, tr=tf=5jus, CL=1.0puF(ceramic)

Input Voltage

Input Voltage: VIN (V)

Output Voltage

Time (40pas/div)

XC6213 B502
VIN=VCE , Ta=25
I0UT=30mA, tr=tf=5pus, CL=1.0puF(ceramic)

Input Voltage

Output Voltage

Time (40pas/div)

3.10

3.08

S
5
3.06 3
>
3.04 %
Ke)
>
302 =
o
5
300 ©
2.98
5.25
520
b
515 5
o)
>
510 S
o)
S
505 5
2
3
5.00
4.95
TOIREX
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Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

1.3

1.25

1.2

1.15

1.1

1.6

1.55

1.5

1.45

1.4

1.35

1.85

1.80

1.75

1.65

1.60

XC6213 B122

Time (100pas/div)

Ta=25 , VIN=VCE=2.2V, tr=tf=5ps,
CIN=CL=3.3uF(ceramic)
50
- Output Voltage 40
™
I 30
- 20
Output Current
10mA 10
1mA
0
Time (100pas/div)
XC6213 B152
Ta=25 , VIN=VCE=2.5V, tr=tf=5s,
CIN=CL=3.3uF(ceramic) 50
3 Output Voltage 40
™.
F 30
| 20
Output Current
| 10mA 10
1mA
0
Time (100 s/div)
XC6213 B182
Ta=25 , VIN=VCE=2.8V, tr=tf=5pus,
CIN=CL=3.3uF(ceramic)
Output Voltage
40
1 30
Output Current 1 20
10mA
| 110
RS
‘ s ‘ 0

Output Current: IOUT (mA) Output Current: IOUT (mA)

Output Current: IOUT (mA)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

1.3

1.25

1.2

1.15

1.1

1.6

1.65

1.5

1.45

1.4

1.85

1.80

1.60

XC6213 B122

Ta=25 , VIN=SVCE=2.2V, tr=tf=5ps,
CIN=CL=3.3uF(ceramic)
T T
Output Voltage <
200 £
\/‘ 3
o)
e 150 &
U &
o
A 100 '3
Output Current =
>
50mA 50 %
o
10mA
0
Time (100 s/div)
XC6213 B152
Ta=25 , VIN=VCE=2.5V, tr=tf=5s,
CiN=CL=3.3 4 F(ceramic)
‘ 250
<
Output Voltage £
1 200 =
o)
I 4 150 &
C
\ J o
5
3 {1 100 O
Output Current ‘g‘_
| 50mA | 5 g
\ 10mA
0
Time (100 pas/div)
XC6213 B182
Ta=25 , VIN=VCE=2.8V, tr=tf=5ps,
CIN=CL=3.3pF i
IN=CL 1 F(ceramic) 250
Output Voltage <
S
= I 200 =
o)
o
150 —
c
o
100 5
50mA Output Current §_
50 5
10mA L o
= —,

Time (100pas/div)
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Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

3.05

3.00

2.95

2.85

XC6213 B302

40
<
£
'—

30 3
Iy
o
5

20 3
=}
k=3
)

10 ©

Ta=25 , VIN=VCE=4.0V, tr=tf=5ps,
CIN=CL=1.0juF(ceramic) 5
Output Voltage
Output Current
— 10mA
1mA

Time (100pas/div)

XC6213 B502

ey
o

Ta=25 , VIN=VCE=6.0V, tr=tf=5us,
CIN=CL=1.0juF(ceramic) 50
Output Voltage

N

V]

— 10mA

TmA

Output Current

L

Time (100pas/div)

w
(=]

[\N)
o
Output Current: IOUT (mA)

o

3.10

3.058

Output Voltage: VOUT (V)

N
©
=]

2.85

5.10

5.05

5.00

4.95

Output Voltage: VOUT (V)

4.85

Ta=25

XC6213 B302

, VINSVCE=4.0V, tr=tf=5us,

CIN=CL=1.0puF(ceramic)

utput Voltage

|

I 50mA

10mA J

Output Current

Ta=25

Time (100pas/div)

XC6213 B502

250

200

150

100

50

, VIN=VCE=6.0V, tr=tf=5us,

CIN=CL=1.0puF(ceramic)
250

Output Voltage

N

200

Ya

150

— S0mA

10mA

Output Current

100

L

50

Time (100 s/div)

Output Current: IOUT (mA)

Output Current: IOUT (mA)
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Input Voltage: VIN (V) Input Voltage: VIN (V)

Input Voltage: VIN (V)

3

Ta=25

XC6213 B122

, lout=100pA, tr=tf=5ps,

VIN=VCE=0 - 2.2V, CL=3.3uF(ceramic)

Input Voltage

Output Voltage

Time (40pas/div)

Ta=25

XC621

3B152

, lout=100A, tr=tf=5ps,
VIN=VCE=0 - 2.5V, CL=3.3uF(ceramic)

Input Voltage

Output Voltage

Time (40s/div)

XC621

3B182

Ta=25 , lout=100A, tr=tf=5ps,
VIN=VCcE=0 - 2.8V, CL=1.0juF(ceramic)
4
2 il
Input Voltage
0 L
// Output Voltage —

/

Time (40s/div)

4

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Input Voltage: VIN (V) Input Voltage: VIN (V)

Input Voltage: VIN (V)

XC

Ta=25
VIN=VCE=0-2

6213 B122

, lout=30mA, tr=tf=5ps,

.2V, CL=3.3uF(ceramic)

Input Voltage

r—r L

Output Voltage

e —

/

Tim:

e (40pas/div)

XC6213 B152

Ta=25

, lout=30mA, tr=tf=5pus,
VIN=VCcE=0 - 2.5V, CL=3.3uF(ceramic)
4

|

Input Voltage —

Output Voltage

Time (40pas/div)

XC6213 B182

Ta=25

, lout=30mA, tr=tf=5ps,

VIN=VCE=0 - 2.8V, CL=1.0puF(ceramic)

4

Input Voltage

f— Output Voltage |

-

Time

(40pas/div)

4

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)
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XC6213 B302
Ta=25 , lout=100pA, tr=tf=5ps,
6 VIN=VCcE=0- 4.0V, CL=1.0puF(ceramic) 6
4 5
= S
> f Input Voltage =
Z 2 — 4 2
> g
@ ~
o)) (0]
g0 3 g
5 L 5
Z /| >
5 =
g2 g
- ]
/ Output Voltage O
-4 / 1
-5 0
Time (40pas/div)
XC6213 B502
Ta=25 , lout=100A, tr=tf=5ps,
8 VIN=VCcE=0 - 6.0V, CL=1.0paF(ceramic) 10
6 8
S Input Voltage
Z
S 4 6
.
()]
g //
S 2 g 4
5
15 Output Voltage
0 2
2 0

Time (80pus/div)

Output Voltage: VOUT (V)

Input Voltage: VIN (V)

-2

Input Voltage: VIN (V)

XC6213 B302

Ta=25 , lout=30mA, tr=tf=5ps,
VIN=VCcE=0 - 4.0V, CL=1.0puaF(ceramic) 5

/ Input Voltage

—

/ Output Voltage

/

Time (40pas/div)

XC6213 B502
Ta=25 , lout=30mA, tr=tf=5ps,

VIN=VCcE=0 - 6.0V, CL=1.0puF(ceramic) 10

Output Voltage: VOUT (V)

Input Voltage

Output

Voltage

Time (80us/div)

Output Voltage: VOUT (V)

TOIREX
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Ta=25

CE Input Voltage: VCE (V)

Ta=25

2

-2

CE Input Voltage: VCE (V)

Ta=25

4

CE Input Voltage: VCE (V)

XC6213 B122

, VIN=2.2V, louT=100 A, tr=tf=5ps,

Vce=0.25- 1.5V, CL=3.3uF(ceramic)
5

CE Input Voltage

Output Voltage

/!

s

Time (40pas/div)

XC6213 B152

, VIN=2.5V, louT=100u A, tr=tf=5ps,
Vce=0.25- 1.5V, CL=3.3uF(ceramic)

CE Input Voltage

Output Voltage

’

Time (40pas/div)

XC6213 B182

, VIN=2.8V, louT=100 A, tr=tf=5ps,
Vce=0.25- 1.5V, CL=1.0puF(ceramic)

CE Input Voltage

Output Voltage

Time (40pas/div)

5

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Ta=25

CE Input Voltage: VCE (V)

'
N

Ta

CE Input Voltage: VCE (V)

XC6213 B122

, VIN=2.2V, louT=30mA, tr=tf=5s,

Vce=0.25- 1.5V, CL=3.3puF(ceramic)

2

-

-

CE Input Voltag

[J]

o

'
-

Output Voltage

S~

Time (40ps/div)

XC6213 B152

=25 , VIN=2.5V, louT=30mA, tr=tf=5s,
Vce=0.25- 1.5V, CL=3.3juF(ceramic)

2

i

o

CE Input Voltage

Output Voltage

I
[N

~

1
N

/

Time (40pas/div)

XC6213 B182

Ta=25 , VIN=2.8V, louT=30mA, tr=tf=5pus,
Vce=0.25- 1.5V, CL=1.0juF(ceramic)

CE Input Voltage: VCE (V)

4

CE Input Voltage

— 3

f Output Voltage

)

— 1

Time (40pus/div)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)
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(11) CE

CE Input Voltage: VCE (V)

CE Input Voltage: VCE (V)

(3% ]

o

]
L]

A

XC6213 B302

Ta=25 , VIN=4.0V, louT=30mA, tr=tf=5pus,
Vce=0.25- 1.5V, CL=1.0juF(ceramic) 5

CE Input Voltage

/

—

Output Voltage

/

Time (40pas/div)

XC6213 B502

Ta=25 , VIN=6.0V, louT=30mA, tr=tf=5us,

|

CE Input Voltage

Output Voltage

Time (80pus/div)

Output Voltage: VOUT (V)

Vce=0.25- 1.5V, CL=1.0paF(ceramic) 10

Output Voltage: VOUT (V)

CE Input Voltage: VCE (V)

=y

(=]

'
—_

-3

CE Input Voltage: VCE (V)

A

[=]

'
3%}

Ta=25 , VIN=4.0V, louT=30mA, tr=tf=5us,
Vce=0.25- 1.5V, CL=1.0juF(ceramic) 5

XC6213 B302

CE Input Voltage

Vsl

/ Qutput Voltage

/

Ta=25 , VIN=6.0V, louT=30mA, tr=tf=5pus,
Vce=0.25- 1.5V, CL=1.0juF(ceramic)

Time (40pas/div)

XC6213 B502

_J

CE Input Voltage

Output Voltage

Time (80pas/div)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

TOIREX
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XC6213 B152

XC6213 B122 VIN=VCE=2.5VDC+0.5p-pAC, louT=50mA,
VIN=VCE=2.2VDCc+0.5p-pAC, louT=50mA, CIN=0.01p4F, CL=3.3puF(ceramic)

CiN=0.01paF, CL=3.3p4F(ceramic)

90
90
— = 80 |
s % = 70
% 70 % 1 il
8 60 ] s >~
© < 50
2 5 | =
5 S 40 |
g S
g v 2 30
& 30t (4
© % 20
g 20 S 10
T 10
0
0 0.01 0.1 1 10 100
0.01 0.1 1 10 100
Ripple F f(kH
Ripple Frequency: f (kHz) ipple Frequency: f (kHz)
XC6213 B182 XC6213 B302
VIN=VcE=2.8VDc+0.5p-pAC, VIN=VCcE=4.0VDC+0.5p-pAC,
lout=50mA, CL=1.0puaF(ceramic) lout=50mA, CL=1.0pu4F(ceramic)
90 90
—~ 80 } | .80
% ——/,—f’_ \\ )
= 70 =1 ™ g Z 70 ™~
4 TN i N
o 60 ™~~~ Ke} 60 \\
& 50 [ & 50
c c
S 40 S 40
g g
& 30 & 30
2 20 | 220 |
= o
X 10 X 10
0 0
0.01 0.1 1 10 100 0.01 0.1 1 10 100
Ripple Frequency: f (kHz) Ripple Frequency: f (kHz)
XC6213 B502
VIN=VcE=5.5VDc+0.5p-pAC,
lout=50mA, CL=1.0paF(ceramic)
90
%\ 80
e 70
m T~~~
g 9 R
® 50 |
c
£ 40 |
O
2
e 30
22}
2
X 10 |
0 1 1 1
0.01 0.1 1 10 100

Ripple Frequency: f (kHz)

24/33



XC6213

®SOT-25
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e USPN-4
(unit : mm)
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8
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XC6213

||
@ SOT-25/ USP-4
C XC6213
~
1O w14
ol iELRIN =0.1~3.0V_| =3.1~6.0V | =0.15~3.05V | =3.15~6.05V
X B F M XC6213B***M
SOT-25 USP-4
(TOP VIEW) (TOP VIEW) (V) (V)
0 - 31| - |315 F 16 | 46 | 165|465
1 - 32 | - |325 H 17 | 47 [ 175 | 475
2 - 33| - |[335 K 18 | 48 | 185|485
3 - 34 | - |345 L 19 | 49 [ 195|495
4 - 35| - |355| M 20 | 50 |205]| -
5 - 36 | - |365 N 21| - |215]| -
6 § 37| - |375 P 22 | - |225]| -
7 - 38 | - |385 R 23| - |235]| -
8 - 39 | - |395 s 24 | - |245]| -
9 - 40 | - |405 T 25 | - |255]| -
A - 41 | - |415 u 26 | - |265]| -
B 12 | 42 |125 425 Vv 27 | - |275]| -
C 13 | 43 | 135|435 X 28 | - |285]| -
D 14 | 44 | 145|445 Y 29 | - |295]| -
E 15 | 45 | 155|455 z 30 | - |305]| -
0 9 A Z 0 9 A Z
( GI J O QW )
@ SSO0T-24
(V)
3.X XC6213B83 N
5.X XC6213B5 N
T V) V)
1 2 0 X.0 XC62138 0 N A X.05 XC6213B  OAN
SSOT-24 1 X.1 XC6213B 1 N B X.15 XC6213B  1AN
TOP VIEW 2 X.2 XC6213B 2 N C X.25 XC6213B  2AN
3 X.3 XC6213B 3 N D X.35 XC6213B  3AN
4 X.4 XC6213B 4 N E X.45 XC6213B  4AN
5 X.5 XC6213B 5 N F X.55 XC6213B  5AN
6 X.6 XC6213B 6 N H X.65 XC6213B  6AN
7 X.7 XC6213B 7 N K X.75 XC6213B  7AN
8 X.8 XC6213B 8 N L X.85 XC6213B  8AN
9 X.9 XC6213B 9 N M X.95 XC6213B  9AN
0 9 A Z ( Gl J O QW )
TOIREX
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|
e USPN-4
ile) 4
C XC6213
N Ot Rt 3
=0.1~3.0V =3.1~6.0V |=0.15~3.05V| =3.15~6.05V
X B F M XC6213B
(V) (V)
0 - 3.1 - 3.15 F 16 | 46 | 1.65 | 4.65
1 - 32| - [325| H 17 | 47 | 175 | 475
2 - 33| - [335| K 1.8 | 48 | 1.85 485
3 - 34 | - |345 L 19 | 49 |1.95|4.95
4 - 35| - [355] M 20 | 50 [205]| -
5 - 36 | - [365| N 21 | - |215] -
6 - 37| - [375| P 22 | - |225] -
7 - 3.8 - 3.85 R 2.3 - 2.35 -
8 - 39 | - [395| s 24 | - |245]| -
9 - 4.0 - 4.05 T 2.5 - 2.55 -
A - 41| - |415| U 26 | - |265]| -
B 12 | 42 |125|425| Vv 27 | - |275] -
c 13 | 43 [135]435| X 28 | - |285]| -
D 14 | 44 |145|445| Y 29 | - 295 -
E 15 | 45 [ 155|455| Z 30 | - [305] -

01 09 O0A 0Z 11..9Z A1 A9 AA..Z9 ZA ZZ
( GlIlJoaQw )
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® SOT-25
SOT-25
40.0
1.
28.9
Pb
40mm><40mm 1600mm?
50%- 50%
o
o o
o~ [an]
SOT26 ~
FR-4
1.6mm
0.8mm 4
12
mm
2. -
(Tjmax = 125 )
Pd mW /W)
25 600
85 240 166.67
Pd-Ta
700
Z 500
& 400 T~
300 \
200 -
100
0
25 45 65 85 105 125
Ta
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® SSO0T-24
SSOT-24
40.0
1
289
Pb
40mm><40mm 1600mm?
50%- 50%
. 3
FR-4 2 g
1.6mm
0.8mm 4
i
[a]
2. -
(Tjmax = 125 )
Pd mw ( /W)
25 500
85 200 200.00
Pd-Ta
600
= 500
S
o 400
300
200
100
0
25 45 65 85 105 125
Ta
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® USP-4
USP-4
40.0
1' """" N
Pb
40mm><40mm 1600mm?
50%- 50%
FR-4 S
1.6mm
0.8mm 4
@AL
mm
2. -
(Tjmax = 125 )
Pd mw ( /W)
25 1000
85 400 100.00
Pd-Ta
1200
= 1000
e 800 \
E \
600
400
200
0
25 45 65 85 105 125

Ta
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40.0

e USPN-4
USPN-4
1,
40.0
Pb 289
40mm>40mm 1600mm?
50%- 50%
12.5%- 12.5% ﬂi
AN Pt
FR-4 -
1.6mm &
0.8mm 4
mm
2. -
(Tjmax = 125 )
Pd mw ( /W)
25 600
85 240 16667
Pd-Ta
700
Z 500
£ 400 T~
300 T~
200
100
0
25 45 65 85 105 125
Ta
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